
SW8 T30

1

2

Demounting of the front PFAL plinth while EKOM is installed

1

A

 

Torque
10-15 Nm

C

B

 
Torque

8-10 Nm

PFAL/EKOM Ref. Pic. Qty.

A M10x25 4

B M6x16 2

C M10 4

1 7697-0501-93, REV. 4



SW8 T30

1

2

Demounting of the front PFAL plinth while ECOM is installed

1

A

 

Torque
10-15 Nm

C

B

 
Torque

8-10 Nm

PFAL/ECOM Ref. Pic. Qty.

A M10x25 4

B M6x16 2

C M10 4

2 7697-0501-93, REV. 4


	Sheet1
	Drawing View1
	Detail View  (1 : 5)
	Drawing View4
	Drawing View6
	Drawing View8

	Sheet2
	Drawing View9
	Detail View  (1 : 5)
	Drawing View11
	Drawing View12
	Drawing View13




